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3940

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7) / ndf 
2χ  72.57 / 25

p0        0.0±  3940 

p1        0.000172± -0.002115 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)

TP delay [ns]

0 50 100

3949.5

3949.6

3949.7

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8)
 / ndf 2χ  63.11 / 25

p0        0.0±  3950 

p1        0.000199± -0.001204 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,8)

TP delay [ns]

0 50 100

3942.4

3942.5

3942.6

3942.7

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9) / ndf 
2χ  60.89 / 25

p0        0.0±  3943 

p1        0.000186± -0.001091 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,9)

TP delay [ns]

0 50 100

3946.7

3946.8

3946.9

TVC (Mean) vs TP delay (c,b,ch)=(4,1,10) / ndf 
2χ  80.03 / 25

p0        0.0±  3947 

p1        0.000187± -0.001134 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,10)

TP delay [ns]

0 50 100

3900

3910

3920

3930

3940
TVC (Mean) vs TP delay (c,b,ch)=(4,1,11) / ndf 

2χ  33.69 / 25

p0        3.2±  3927 

p1        0.05503± -0.09483 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,11)

TP delay [ns]

0 50 100

3938.4

3938.5

3938.6

TVC (Mean) vs TP delay (c,b,ch)=(4,1,12) / ndf 
2χ  86.24 / 25

p0        0.0±  3939 

p1        0.000201± -0.001607 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,12)

TP delay [ns]

0 50 100

3936

3938

3940

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)
 / ndf 2χ  78.21 / 25

p0        0.0±  3943 

p1        0.000197± -0.001805 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,13)

TP delay [ns]

0 50 100
3931.3

3931.4

3931.5

3931.6

3931.7

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14) / ndf 
2χ  91.16 / 25

p0        0.0±  3932 

p1        0.000199± -0.001553 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)

TP delay [ns]

0 50 100

3932.4

3932.5

3932.6

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15) / ndf 
2χ  67.09 / 25

p0        0.0±  3933 

p1        0.000194± -0.001422 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)



TP delay [ns]

0 50 100

3910.5

3910.6

3910.7

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0) / ndf 
2χ  29.25 / 25

p0        0.0±  3911 

p1        0.000183± -0.001195 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]

0 50 100

3910.6

3910.7

3910.8

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1) / ndf 
2χ  27.01 / 25

p0        0.0±  3911 

p1        0.000209± -0.001168 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]

0 50 100

3907.6

3907.7

3907.8

3907.9
TVC (Mean) vs TP delay (c,b,ch)=(4,2,2) / ndf 

2χ  36.27 / 25

p0        0.0±  3908 

p1        0.00018± -0.00153 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]

0 50 100

3910.6

3910.7

3910.8

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)
 / ndf 2χ  56.17 / 25

p0        0.0±  3911 

p1        0.000189± -0.001244 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]

0 50 100

3917.5

3917.6

3917.7

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4) / ndf 
2χ  49.51 / 25

p0        0.0±  3918 

p1        0.000195± -0.001148 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]

0 50 100

3912.8

3912.9

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5) / ndf 
2χ  43.02 / 25

p0        0.0±  3913 

p1        0.000185± -0.001449 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]

0 50 100
3911.8

3911.9

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)
 / ndf 2χ   42.9 / 25

p0        0.0±  3912 

p1        0.000180± -0.001734 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]

0 50 100

3915.1

3915.2

3915.3

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7) / ndf 
2χ   82.4 / 25

p0        0.0±  3915 

p1        0.00018± -0.00166 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]

0 50 100

3906.9

3907

3907.1

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) / ndf 
2χ  24.49 / 25

p0        0.0±  3907 

p1        0.000194± -0.001124 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]

0 50 100

3908

3910

3912

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  48.45 / 25

p0        0.0±  3914 

p1        0.0001849± -0.0008616 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]

0 50 100
3913.4

3913.5

3913.6

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10) / ndf 
2χ  40.69 / 25

p0        0.0±  3914 

p1        0.000183± -0.001031 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]

0 50 100

3918

3918.1

3918.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)
 / ndf 2χ  42.36 / 25

p0        0.0±  3918 

p1        0.0001893± -0.0009026 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]

0 50 100

3897

3897.1

3897.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12) / ndf 
2χ  27.13 / 25

p0        0.0±  3897 

p1        0.000183± -0.001767 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]

0 50 100

3897

3897.1

3897.2

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13) / ndf 
2χ  40.45 / 25

p0        0.0±  3897 

p1        0.000189± -0.001297 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]

0 50 100

3901.7

3901.8

3901.9

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14) / ndf 
2χ  36.46 / 25

p0        0.0±  3902 

p1        0.000189± -0.001289 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]

0 50 100

3899.6

3899.7

3899.8

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 
2χ  32.07 / 25

p0        0.0±  3900 

p1        0.000181± -0.001409 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]

0 50 100

3922.3

3922.4

3922.5

3922.6

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0) / ndf 
2χ  32.44 / 25

p0        0.0±  3923 

p1        0.000192± -0.001807 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]

0 50 100

3914.3

3914.4

3914.5

3914.6

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)
 / ndf 2χ  37.67 / 25

p0        0.0±  3915 

p1        0.000189± -0.001594 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]

0 50 100

3916.3

3916.4

3916.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2) / ndf 
2χ  43.55 / 25

p0        0.0±  3917 

p1        0.000197± -0.001417 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]

0 50 100
3916.8

3917

3917.2

3917.4

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3) / ndf 
2χ  39.21 / 25

p0        0.0±  3918 

p1        0.000190± -0.001348 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]

0 50 100

3912

3912.1

3912.2

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) / ndf 
2χ  23.73 / 25

p0        0.0±  3912 

p1        0.000203± -0.001323 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]

0 50 100
3906.4

3906.6

3906.8

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5) / ndf 
2χ  23.91 / 25

p0        0.0±  3907 

p1        0.000186± -0.001278 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]

0 50 100

3932.8

3932.9

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6) / ndf 
2χ  48.85 / 25

p0        0.0±  3933 

p1        0.000181± -0.001479 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]

0 50 100

3921.4

3921.5

3921.6

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7) / ndf 
2χ  47.05 / 25

p0        0.0±  3922 

p1        0.000182± -0.001182 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]

0 50 100

3925.8

3925.9

3926
TVC (Mean) vs TP delay (c,b,ch)=(4,3,8) / ndf 

2χ  63.95 / 25

p0        0.0±  3926 

p1        0.000198± -0.001012 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]

0 50 100

3918.3

3918.4

3918.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9) / ndf 
2χ  52.34 / 25

p0        0.0±  3918 

p1        0.000188± -0.001187 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]

0 50 100

3915.7

3915.8

3915.9

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10) / ndf 
2χ  67.01 / 25

p0        0.0±  3916 

p1        0.000181± -0.001017 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]

0 50 100

3927

3927.2

3927.4

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11) / ndf 
2χ  54.47 / 25

p0        0.0±  3927 

p1        0.000187± -0.001239 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]

0 50 100

3935.4

3935.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  42.58 / 25

p0        0.0±  3936 

p1        0.0001858± -0.0005453 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]

0 50 100

3929.5

3929.6

3929.7

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  45.48 / 25

p0        0.0±  3930 

p1        0.0001738± -0.0003951 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]

0 50 100

3930.3

3930.4

3930.5

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  44.34 / 25

p0        0.0±  3930 

p1        0.0001904± -0.0004771 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]

0 50 100

3933.7

3933.8

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  58.05 / 25

p0        0.0±  3934 

p1        0.0001770± -0.0006251 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]

0 50 100

3919.7

3919.8

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ   31.8 / 25

p0        0.0±  3920 

p1        0.0002011± -0.0009969 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]

0 50 100

3905

3910

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1) / ndf 
2χ  33.97 / 25

p0        0.0±  3918 

p1        0.000257± -0.001528 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]

0 50 100

3931.5

3931.6

3931.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  41.64 / 25

p0        0.0±  3932 

p1        0.0001872± -0.0007916 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]

0 50 100

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ   32.5 / 25

p0        0.0±  3927 

p1        0.0001897± -0.0009143 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]

0 50 100

3927.8

3927.9

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)
 / ndf 2χ  50.94 / 25

p0        0.0±  3928 

p1        0.0001842± -0.0006991 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]

0 50 100
3933.5

3933.6

3933.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ  43.41 / 25

p0        0.0±  3934 

p1        0.000185± -0.001005 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]

0 50 100
3929.2

3929.3

3929.4

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  64.39 / 25

p0        0.0±  3929 

p1        0.0001727± -0.0008948 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]

0 50 100

3921

3921.1

3921.2

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
 / ndf 2χ  46.26 / 25

p0        0.0±  3921 

p1        0.000198± -0.001015 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]

0 50 100

3945.4

3945.5

3945.6

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8) / ndf 
2χ  37.01 / 25

p0        0.0±  3946 

p1        0.000189± -0.001173 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]

0 50 100
3944.55

3944.6

3944.65

3944.7

3944.75

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)
 / ndf 2χ  42.91 / 25

p0        0.0±  3945 

p1        0.0001757± -0.0006866 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]

0 50 100

3944.4

3944.5

3944.6

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)
 / ndf 2χ  56.26 / 25

p0        0.0±  3945 

p1        0.0001816± -0.0007481 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]

0 50 100

3938.5

3938.6

3938.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)
 / ndf 2χ  51.68 / 25

p0        0.0±  3939 

p1        0.0001840± -0.0008156 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]

0 50 100

3932

3932.1

3932.2

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  67.85 / 25

p0        0.0±  3932 

p1        0.0001876± -0.0008731 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]

0 50 100

3941.5

3941.6

3941.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)
 / ndf 2χ  53.98 / 25

p0        0.0±  3942 

p1        0.0002009± -0.0007657 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]

0 50 100

3938.8

3938.9

3939

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) / ndf 
2χ  102.8 / 25

p0        0.0±  3939 

p1        0.000196± -0.001148 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]

0 50 100

3930.5

3930.6

3930.7

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ    110 / 25

p0        0.0±  3931 

p1        0.000195± -0.001075 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]

0 50 100

3917.4

3917.5

3917.6

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  23.03 / 25

p0        0.0±  3918 

p1        0.0002323± -0.0008993 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]

0 50 100

3915.1

3915.2

3915.3
TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

 / ndf 2χ  37.94 / 25

p0        0.0±  3915 

p1        0.0001896± -0.0007963 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]

0 50 100

3920.4

3920.5

3920.6

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)
 / ndf 2χ  73.11 / 25

p0        0.0±  3921 

p1        0.0001839± -0.0008652 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]

0 50 100

3925.8

3925.9

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) / ndf 
2χ  58.42 / 25

p0        0.0±  3926 

p1        0.000186± -0.001171 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]

0 50 100

3913.3

3913.4

3913.5

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  75.17 / 25

p0        0.0±  3913 

p1        0.000187± -0.001454 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]

0 50 100

3908.7

3908.8

3908.9

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5) / ndf 
2χ  56.34 / 25

p0        0.0±  3909 

p1        0.000174± -0.001432 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]

0 50 100

3916

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6) / ndf 
2χ  65.36 / 25

p0        0.0±  3920 

p1        0.000188± -0.001451 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]

0 50 100

3910

3910.1

3910.2

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7) / ndf 
2χ  61.98 / 25

p0        0.0±  3910 

p1        0.000180± -0.001312 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]

0 50 100
3940.2

3940.3

3940.4

3940.5

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ  72.05 / 25

p0        0.0±  3940 

p1        0.000202± -0.001435 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
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3937.7

3937.8

3937.9

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9) / ndf 
2χ  64.52 / 25

p0        0.0±  3938 

p1        0.00020± -0.00166 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
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3932

3934

3936

3938

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10) / ndf 
2χ  58.99 / 25

p0        0.0±  3940 

p1        0.000188± -0.001115 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]

0 50 100

3935.4

3935.5

3935.6

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11) / ndf 
2χ   67.2 / 25

p0        0.0±  3936 

p1        0.000185± -0.001281 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) / ndf 
2χ  26.19 / 25

p0        0.0±  3937 

p1        0.000208± -0.001359 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,14) / ndf 
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p1        0.000189± -0.001122 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]

0 50 100

3940.7

3940.8

3940.9

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15) / ndf 
2χ  42.01 / 25

p0        0.0±  3941 

p1        0.000176± -0.001051 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ  30.34 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
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p1        0.0001859± -0.0009247 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ  40.65 / 25
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p1        0.0001784± -0.0008998 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ  55.97 / 25
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p1        0.000196± -0.001725 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  40.32 / 25
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p1        0.0001788± -0.0009593 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  18.98 / 25
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p1        0.0001865± -0.0008317 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  46.88 / 25
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p1        0.000176± -0.001625 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
 / ndf 2χ  68.68 / 25
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p1        0.000188± -0.001445 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,9) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) / ndf 
2χ  42.36 / 25

p0        0.0±  3918 

p1        0.000180± -0.001138 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ  66.56 / 25
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p1        0.000183± -0.001023 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
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p1        0.000202± -0.002096 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) / ndf 
2χ  55.79 / 25

p0        0.0±  3931 

p1        0.000212± -0.001907 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,14) / ndf 
2χ  45.36 / 25

p0        0.0±  3920 

p1        0.000191± -0.001854 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,15) / ndf 
2χ  32.15 / 25

p0        0.0±  3928 

p1        0.000187± -0.001963 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  48.37 / 25

p0        0.0±  3945 

p1        0.00020± -0.00149 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,1) / ndf 
2χ   52.2 / 25

p0        0.0±  3946 

p1        0.000177± -0.001349 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
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p1        0.000176± -0.001611 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  46.73 / 25
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p1        0.000203± -0.001275 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) / ndf 
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p0        0.0±  3931 

p1        0.000205± -0.001111 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  47.66 / 25

p0        0.0±  3930 

p1        0.0001893± -0.0008417 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) / ndf 
2χ  63.14 / 25

p0        0.0±  3934 

p1        0.000194± -0.001072 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,7) / ndf 
2χ  46.99 / 25

p0        0.0±  3945 

p1        0.000200± -0.001142 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
 / ndf 2χ  48.56 / 25

p0        0.0±  3937 

p1        0.0001832± -0.0009867 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,9) / ndf 
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p1        0.000188± -0.001332 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  38.91 / 25

p0        0.0±  3929 

p1        0.000186± -0.001644 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,11) / ndf 
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p1        0.000187± -0.001436 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,12) / ndf 
2χ  39.31 / 25
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p1        0.000187± -0.001838 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,13) / ndf 
2χ  62.56 / 25

p0        0.0±  3957 

p1        0.000196± -0.001528 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,14) / ndf 
2χ  60.04 / 25

p0        0.0±  3954 

p1        0.00019± -0.00176 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  62.28 / 25

p0        0.0±  3960 

p1        0.000173± -0.001705 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ  32.96 / 25

p0        0.0±  3916 
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,1) / ndf 
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p1        0.000178± -0.001767 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,2) / ndf 
2χ  58.11 / 25
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p1        0.000181± -0.001738 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,3) / ndf 
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p1        0.000174± -0.001563 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) / ndf 
2χ   47.7 / 25

p0        0.0±  3918 

p1        0.000201± -0.001202 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,5) / ndf 
2χ   48.5 / 25
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p1        0.000189± -0.001668 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  107.3 / 25
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p1        0.0001897± -0.0007605 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,7) / ndf 

2χ  106.6 / 25
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p1        0.000180± -0.001469 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,8) / ndf 
2χ  44.91 / 25

p0        0.0±  3913 

p1        0.000192± -0.001359 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,9) / ndf 
2χ  41.73 / 25

p0        0.0±  3911 

p1        0.000200± -0.001792 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) / ndf 
2χ  53.82 / 25
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p1        0.000177± -0.001906 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,11) / ndf 
2χ  50.37 / 25
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p1        0.000176± -0.001461 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ  45.08 / 25
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p1        0.000188± -0.001355 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ  63.55 / 25
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p1        0.000178± -0.001404 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  50.79 / 25

p0        0.0±  3906 

p1        0.000190± -0.001495 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,15) / ndf 
2χ  52.28 / 25

p0        0.0±  3912 

p1        0.000184± -0.001816 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]

0 50 100

3950

3952

3954

3956

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 
2χ  28.01 / 25
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p1        0.000184± -0.001003 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,1) / ndf 
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p1        0.000207± -0.001679 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,2) / ndf 
2χ  55.36 / 25

p0        0.0±  3951 

p1        0.000199± -0.001081 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]

0 50 100

3957.5

3957.55

3957.6

3957.65

3957.7

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  38.34 / 25

p0        0.0±  3958 

p1        0.0001806± -0.0007435 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 
2χ  48.01 / 25
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p1        0.000191± -0.001698 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 
2χ  34.82 / 25

p0        0.0±  3945 

p1        0.000190± -0.001698 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,7) / ndf 
2χ  33.97 / 25
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p1        0.000188± -0.001707 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,8) / ndf 
2χ  39.52 / 25
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p1        0.000206± -0.001627 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 
2χ  39.41 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,12) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) / ndf 
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p1        0.000176± -0.001377 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)
 / ndf 2χ  47.89 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 
2χ  65.38 / 25

p0        0.0±  3940 

p1        0.00019± -0.00173 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) / ndf 
2χ  40.92 / 25
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p1        0.00020± -0.00123 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
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p1        0.0001892± -0.0009928 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,2) / ndf 
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p1        0.000170± -0.000973 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
 / ndf 2χ  83.79 / 25
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p1        0.0001867± -0.0008259 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ  81.85 / 25
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p1        0.000185± -0.001395 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) / ndf 
2χ  77.31 / 25
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p1        0.000184± -0.001318 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,6) / ndf 
2χ  86.25 / 25

p0        0.0±  3934 

p1        0.000183± -0.001638 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]

0 50 100

3930

3932

3934

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ  108.1 / 25

p0        0.0±  3936 

p1        0.000182± -0.001754 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
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0 50 100

3918

3918.5

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8) / ndf 
2χ  52.93 / 25

p0        0.0±  3919 

p1        0.000182± -0.001456 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
 / ndf 2χ  45.13 / 25

p0        0.0±  3920 

p1        0.0001805± -0.0009279 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,10) / ndf 
2χ  59.56 / 25

p0        0.0±  3919 

p1        0.00017± -0.00115 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,11) / ndf 
2χ  66.69 / 25

p0        0.0±  3924 

p1        0.000179± -0.001456 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,12) / ndf 
2χ  49.95 / 25

p0        0.0±  3928 

p1        0.000182± -0.001701 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 
2χ  47.37 / 25

p0        0.0±  3941 

p1        0.000190± -0.001622 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,14) / ndf 

2χ  67.87 / 25

p0        0.0±  3940 

p1        0.000185± -0.001479 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 
2χ  43.86 / 25

p0        0.0±  3929 

p1        0.000188± -0.001618 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,0) / ndf 
2χ  55.14 / 25

p0        0.0±  3927 

p1        0.000197± -0.001771 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ  56.23 / 25

p0        0.0±  3935 

p1        0.000183± -0.001274 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,2) / ndf 
2χ  58.97 / 25

p0        0.0±  3933 

p1        0.00019± -0.00148 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,3) / ndf 
2χ   71.7 / 25

p0        0.0±  3929 

p1        0.00019± -0.00124 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]

0 50 100

3952

3954

3956

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)
 / ndf 2χ  62.97 / 25

p0        0.0±  3956 

p1        0.000183± -0.001284 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  33.62 / 25

p0        0.0±  3948 

p1        0.0002033± -0.0009517 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) / ndf 
2χ  65.46 / 25

p0        0.0±  3955 

p1        0.000181± -0.001593 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
 / ndf 2χ  56.82 / 25

p0        0.0±  3954 

p1        0.000178± -0.001564 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)
 / ndf 2χ  67.98 / 25

p0        0.0±  3929 

p1        0.0001783± -0.0009197 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,9) / ndf 
2χ  57.28 / 25

p0        0.0±  3935 

p1        0.000187± -0.001101 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
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3935.9

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  53.51 / 25

p0        0.0±  3936 

p1        0.0001890± -0.0009974 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,11) / ndf 
2χ   76.1 / 25

p0        0.0±  3930 

p1        0.000193± -0.001052 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,12) / ndf 
2χ  46.57 / 25

p0        0.0±  3937 

p1        0.000240± -0.001838 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,13) / ndf 
2χ  65.12 / 25

p0        0.0±  3929 

p1        0.000197± -0.001087 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,14) / ndf 
2χ   98.7 / 25

p0        0.0±  3932 

p1        0.000193± -0.001281 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,15) / ndf 
2χ  90.66 / 25

p0        0.0±  3934 

p1        0.000182± -0.001303 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
 / ndf 2χ  97.76 / 25

p0        0.0±  3933 

p1        0.000176± -0.001654 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) / ndf 
2χ  49.17 / 25

p0        0.0±  3946 

p1        0.000181± -0.001565 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)
 / ndf 2χ  54.97 / 25

p0        0.0±  3941 

p1        0.000189± -0.001435 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]
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3936.7
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3936.9

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)
 / ndf 2χ  54.39 / 25

p0        0.0±  3937 

p1        0.000185± -0.001504 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,4) / ndf 
2χ   80.6 / 25

p0        0.0±  3924 

p1        0.000198± -0.002018 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]
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3923.9

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5) / ndf 
2χ  85.93 / 25

p0        0.0±  3924 

p1        0.000207± -0.001813 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)

TP delay [ns]
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3920.7

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6) / ndf 
2χ  83.07 / 25

p0        0.0±  3921 

p1        0.00019± -0.00184 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,7) / ndf 
2χ  95.19 / 25

p0        0.0±  3925 

p1        0.000185± -0.001721 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
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3913.8

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
 / ndf 2χ  32.29 / 25

p0        0.0±  3914 

p1        0.0001851± -0.0008537 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,9) / ndf 
2χ   39.7 / 25

p0        0.0±  3913 

p1        0.000199± -0.001003 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)
 / ndf 2χ  36.09 / 25

p0        0.0±  3915 

p1        0.0001880± -0.0006902 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]
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3913.5

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11) / ndf 
2χ  70.17 / 25

p0        0.0±  3914 

p1        0.000185± -0.001239 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)

TP delay [ns]
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3907.2

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12) / ndf 
2χ  35.94 / 25

p0        0.0±  3907 

p1        0.000164± -0.001486 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
 / ndf 2χ  71.32 / 25

p0        0.0±  3899 

p1        0.000179± -0.001574 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,14) / ndf 
2χ  72.15 / 25

p0        0.0±  3900 

p1        0.000189± -0.001426 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,15) / ndf 
2χ  50.23 / 25

p0        0.0±  3899 

p1        0.000173± -0.001152 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,0) / ndf 
2χ  94.87 / 25

p0        0.0±  4032 

p1        0.000184± -0.001666 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) / ndf 
2χ  61.63 / 25

p0        0.0±  4022 

p1        0.000199± -0.001769 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,2) / ndf 
2χ  76.99 / 25

p0        0.0±  4026 

p1        0.000188± -0.001649 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3) / ndf 

2χ  81.77 / 25

p0        0.0±  4033 

p1        0.000186± -0.001471 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)

TP delay [ns]
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3963

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4) / ndf 
2χ  103.1 / 25

p0        0.0±  3963 

p1        0.000174± -0.001816 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)

TP delay [ns]

0 50 100
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3956.7

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
2χ  70.83 / 25

p0        0.0±  3957 

p1        0.000187± -0.001783 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)

TP delay [ns]
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3965.4

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6) / ndf 
2χ  54.63 / 25

p0        0.0±  3965 

p1        0.000175± -0.001722 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7) / ndf 
2χ  60.13 / 25

p0        0.0±  3965 

p1        0.000192± -0.001711 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
 / ndf 2χ  53.51 / 25

p0        0.0±  4015 

p1        0.0001857± -0.0007432 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,9) / ndf 
2χ  64.52 / 25

p0        0.0±  4021 

p1        0.000179± -0.001311 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)

TP delay [ns]
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4021.7

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10) / ndf 
2χ  60.56 / 25

p0        0.0±  4022 

p1        0.000177± -0.001133 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
 / ndf 2χ  86.85 / 25

p0        0.0±  4015 

p1        0.0002077± -0.0009935 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12) / ndf 
2χ  112.7 / 25

p0        0.0±  3960 

p1        0.000185± -0.002053 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,13) / ndf 
2χ  76.77 / 25
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p1        0.000177± -0.002039 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
2χ  82.97 / 25

p0        0.0±  3962 

p1        0.000180± -0.001572 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15) / ndf 
2χ  134.7 / 25

p0        0.0±  3962 

p1        0.000172± -0.001908 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0) / ndf 
2χ  48.62 / 25

p0        0.0±  3974 

p1        0.000193± -0.000898 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1) / ndf 
2χ  41.71 / 25

p0        0.0±  3977 

p1        0.000197± -0.001011 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) / ndf 
2χ  54.72 / 25

p0        0.0±  3978 

p1        0.00019± -0.00127 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)
 / ndf 2χ  72.08 / 25

p0        0.0±  3973 

p1        0.0001756± -0.0009665 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4) / ndf 
2χ  37.76 / 25

p0        0.0±  3968 

p1        0.000201± -0.001475 
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TVC sigma (RMS) (c,b,ch)=(0,7,12)TVC sigma (RMS) (c,b,ch)=(0,7,12)
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TVC sigma (RMS) (c,b,ch)=(0,7,13)TVC sigma (RMS) (c,b,ch)=(0,7,13)
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TVC sigma (RMS) (c,b,ch)=(0,7,14)TVC sigma (RMS) (c,b,ch)=(0,7,14)
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TVC sigma (RMS) (c,b,ch)=(0,7,15)TVC sigma (RMS) (c,b,ch)=(0,7,15)
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TVC sigma (RMS) (c,b,ch)=(0,8,0)TVC sigma (RMS) (c,b,ch)=(0,8,0)
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TVC sigma (RMS) (c,b,ch)=(0,8,1)TVC sigma (RMS) (c,b,ch)=(0,8,1)
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TVC sigma (RMS) (c,b,ch)=(0,8,2)TVC sigma (RMS) (c,b,ch)=(0,8,2)
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TVC sigma (RMS) (c,b,ch)=(0,8,3)TVC sigma (RMS) (c,b,ch)=(0,8,3)
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TVC sigma (RMS) (c,b,ch)=(0,8,4)TVC sigma (RMS) (c,b,ch)=(0,8,4)
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TVC sigma (RMS) (c,b,ch)=(0,8,5)TVC sigma (RMS) (c,b,ch)=(0,8,5)
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TVC sigma (RMS) (c,b,ch)=(0,8,6)TVC sigma (RMS) (c,b,ch)=(0,8,6)
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TVC sigma (RMS) (c,b,ch)=(0,8,7)TVC sigma (RMS) (c,b,ch)=(0,8,7)
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2

TVC sigma (RMS) (c,b,ch)=(0,8,8)TVC sigma (RMS) (c,b,ch)=(0,8,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,9)TVC sigma (RMS) (c,b,ch)=(0,8,9)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,10)TVC sigma (RMS) (c,b,ch)=(0,8,10)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,11)TVC sigma (RMS) (c,b,ch)=(0,8,11)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,8,12)TVC sigma (RMS) (c,b,ch)=(0,8,12)
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2

TVC sigma (RMS) (c,b,ch)=(0,8,13)TVC sigma (RMS) (c,b,ch)=(0,8,13)
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2

TVC sigma (RMS) (c,b,ch)=(0,8,14)TVC sigma (RMS) (c,b,ch)=(0,8,14)
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2

TVC sigma (RMS) (c,b,ch)=(0,8,15)TVC sigma (RMS) (c,b,ch)=(0,8,15)
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TVC sigma (RMS) (c,b,ch)=(0,9,0)TVC sigma (RMS) (c,b,ch)=(0,9,0)
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2

TVC sigma (RMS) (c,b,ch)=(0,9,1)TVC sigma (RMS) (c,b,ch)=(0,9,1)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,2)TVC sigma (RMS) (c,b,ch)=(0,9,2)
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1.5

2

TVC sigma (RMS) (c,b,ch)=(0,9,3)TVC sigma (RMS) (c,b,ch)=(0,9,3)
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TVC sigma (RMS) (c,b,ch)=(0,9,4)TVC sigma (RMS) (c,b,ch)=(0,9,4)
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TVC sigma (RMS) (c,b,ch)=(0,9,5)TVC sigma (RMS) (c,b,ch)=(0,9,5)
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TVC sigma (RMS) (c,b,ch)=(0,9,6)TVC sigma (RMS) (c,b,ch)=(0,9,6)
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TVC sigma (RMS) (c,b,ch)=(0,9,7)TVC sigma (RMS) (c,b,ch)=(0,9,7)
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TVC sigma (RMS) (c,b,ch)=(0,9,8)TVC sigma (RMS) (c,b,ch)=(0,9,8)
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TVC sigma (RMS) (c,b,ch)=(0,9,9)TVC sigma (RMS) (c,b,ch)=(0,9,9)
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TVC sigma (RMS) (c,b,ch)=(0,9,10)TVC sigma (RMS) (c,b,ch)=(0,9,10)
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TVC sigma (RMS) (c,b,ch)=(0,9,11)TVC sigma (RMS) (c,b,ch)=(0,9,11)
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TVC sigma (RMS) (c,b,ch)=(0,9,12)TVC sigma (RMS) (c,b,ch)=(0,9,12)
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TVC sigma (RMS) (c,b,ch)=(0,9,13)TVC sigma (RMS) (c,b,ch)=(0,9,13)
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TVC sigma (RMS) (c,b,ch)=(0,9,14)TVC sigma (RMS) (c,b,ch)=(0,9,14)
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TVC sigma (RMS) (c,b,ch)=(0,9,15)TVC sigma (RMS) (c,b,ch)=(0,9,15)
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TVC sigma (RMS) (c,b,ch)=(0,10,0)TVC sigma (RMS) (c,b,ch)=(0,10,0)
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TVC sigma (RMS) (c,b,ch)=(0,10,1)TVC sigma (RMS) (c,b,ch)=(0,10,1)
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TVC sigma (RMS) (c,b,ch)=(0,10,2)TVC sigma (RMS) (c,b,ch)=(0,10,2)
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TVC sigma (RMS) (c,b,ch)=(0,10,3)TVC sigma (RMS) (c,b,ch)=(0,10,3)
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TVC sigma (RMS) (c,b,ch)=(0,10,4)TVC sigma (RMS) (c,b,ch)=(0,10,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,10,5)TVC sigma (RMS) (c,b,ch)=(0,10,5)
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TVC sigma (RMS) (c,b,ch)=(0,10,6)TVC sigma (RMS) (c,b,ch)=(0,10,6)
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TVC sigma (RMS) (c,b,ch)=(0,10,7)TVC sigma (RMS) (c,b,ch)=(0,10,7)
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TVC sigma (RMS) (c,b,ch)=(0,10,8)TVC sigma (RMS) (c,b,ch)=(0,10,8)
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TVC sigma (RMS) (c,b,ch)=(0,10,9)TVC sigma (RMS) (c,b,ch)=(0,10,9)
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TVC sigma (RMS) (c,b,ch)=(0,10,10)TVC sigma (RMS) (c,b,ch)=(0,10,10)
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TVC sigma (RMS) (c,b,ch)=(0,10,11)TVC sigma (RMS) (c,b,ch)=(0,10,11)
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TVC sigma (RMS) (c,b,ch)=(0,10,12)TVC sigma (RMS) (c,b,ch)=(0,10,12)
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TVC sigma (RMS) (c,b,ch)=(0,10,13)TVC sigma (RMS) (c,b,ch)=(0,10,13)
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TVC sigma (RMS) (c,b,ch)=(0,10,14)TVC sigma (RMS) (c,b,ch)=(0,10,14)
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TVC sigma (RMS) (c,b,ch)=(0,10,15)TVC sigma (RMS) (c,b,ch)=(0,10,15)
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TVC sigma (RMS) (c,b,ch)=(0,11,0)TVC sigma (RMS) (c,b,ch)=(0,11,0)
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TVC sigma (RMS) (c,b,ch)=(0,11,1)TVC sigma (RMS) (c,b,ch)=(0,11,1)
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TVC sigma (RMS) (c,b,ch)=(0,11,2)TVC sigma (RMS) (c,b,ch)=(0,11,2)
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TVC sigma (RMS) (c,b,ch)=(0,11,3)TVC sigma (RMS) (c,b,ch)=(0,11,3)
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TVC sigma (RMS) (c,b,ch)=(0,11,4)TVC sigma (RMS) (c,b,ch)=(0,11,4)
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TVC sigma (RMS) (c,b,ch)=(0,11,5)TVC sigma (RMS) (c,b,ch)=(0,11,5)
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TVC sigma (RMS) (c,b,ch)=(0,11,6)TVC sigma (RMS) (c,b,ch)=(0,11,6)
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TVC sigma (RMS) (c,b,ch)=(0,11,7)TVC sigma (RMS) (c,b,ch)=(0,11,7)
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TVC sigma (RMS) (c,b,ch)=(0,11,8)TVC sigma (RMS) (c,b,ch)=(0,11,8)
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TVC sigma (RMS) (c,b,ch)=(0,11,9)TVC sigma (RMS) (c,b,ch)=(0,11,9)
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TVC sigma (RMS) (c,b,ch)=(0,11,10)TVC sigma (RMS) (c,b,ch)=(0,11,10)
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TVC sigma (RMS) (c,b,ch)=(0,11,11)TVC sigma (RMS) (c,b,ch)=(0,11,11)
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TVC sigma (RMS) (c,b,ch)=(0,11,12)TVC sigma (RMS) (c,b,ch)=(0,11,12)
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TVC sigma (RMS) (c,b,ch)=(0,11,13)TVC sigma (RMS) (c,b,ch)=(0,11,13)
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TVC sigma (RMS) (c,b,ch)=(0,11,14)TVC sigma (RMS) (c,b,ch)=(0,11,14)
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1.5
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TVC sigma (RMS) (c,b,ch)=(0,11,15)TVC sigma (RMS) (c,b,ch)=(0,11,15)
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TVC sigma (RMS) (c,b,ch)=(0,12,0)TVC sigma (RMS) (c,b,ch)=(0,12,0)
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TVC sigma (RMS) (c,b,ch)=(0,12,1)TVC sigma (RMS) (c,b,ch)=(0,12,1)
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TVC sigma (RMS) (c,b,ch)=(0,12,2)TVC sigma (RMS) (c,b,ch)=(0,12,2)
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TVC sigma (RMS) (c,b,ch)=(0,12,3)TVC sigma (RMS) (c,b,ch)=(0,12,3)
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TVC sigma (RMS) (c,b,ch)=(0,12,4)TVC sigma (RMS) (c,b,ch)=(0,12,4)
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TVC sigma (RMS) (c,b,ch)=(0,12,5)TVC sigma (RMS) (c,b,ch)=(0,12,5)
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TVC sigma (RMS) (c,b,ch)=(0,12,6)TVC sigma (RMS) (c,b,ch)=(0,12,6)
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TVC sigma (RMS) (c,b,ch)=(0,12,7)TVC sigma (RMS) (c,b,ch)=(0,12,7)
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TVC sigma (RMS) (c,b,ch)=(0,12,8)TVC sigma (RMS) (c,b,ch)=(0,12,8)
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TVC sigma (RMS) (c,b,ch)=(0,12,9)TVC sigma (RMS) (c,b,ch)=(0,12,9)
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TVC sigma (RMS) (c,b,ch)=(0,12,10)TVC sigma (RMS) (c,b,ch)=(0,12,10)
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TVC sigma (RMS) (c,b,ch)=(0,12,11)TVC sigma (RMS) (c,b,ch)=(0,12,11)
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TVC sigma (RMS) (c,b,ch)=(0,12,12)TVC sigma (RMS) (c,b,ch)=(0,12,12)
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TVC sigma (RMS) (c,b,ch)=(0,12,13)TVC sigma (RMS) (c,b,ch)=(0,12,13)
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TVC sigma (RMS) (c,b,ch)=(0,12,14)TVC sigma (RMS) (c,b,ch)=(0,12,14)
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TVC sigma (RMS) (c,b,ch)=(0,12,15)TVC sigma (RMS) (c,b,ch)=(0,12,15)
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TVC sigma (RMS) (c,b,ch)=(0,13,0)TVC sigma (RMS) (c,b,ch)=(0,13,0)
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TVC sigma (RMS) (c,b,ch)=(0,13,1)TVC sigma (RMS) (c,b,ch)=(0,13,1)
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TVC sigma (RMS) (c,b,ch)=(0,13,2)TVC sigma (RMS) (c,b,ch)=(0,13,2)
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TVC sigma (RMS) (c,b,ch)=(0,13,3)TVC sigma (RMS) (c,b,ch)=(0,13,3)
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TVC sigma (RMS) (c,b,ch)=(0,13,4)TVC sigma (RMS) (c,b,ch)=(0,13,4)
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TVC sigma (RMS) (c,b,ch)=(0,13,5)TVC sigma (RMS) (c,b,ch)=(0,13,5)
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TVC sigma (RMS) (c,b,ch)=(0,13,6)TVC sigma (RMS) (c,b,ch)=(0,13,6)
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TVC sigma (RMS) (c,b,ch)=(0,13,7)TVC sigma (RMS) (c,b,ch)=(0,13,7)
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TVC sigma (RMS) (c,b,ch)=(0,13,8)TVC sigma (RMS) (c,b,ch)=(0,13,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(0,13,9)TVC sigma (RMS) (c,b,ch)=(0,13,9)
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TVC sigma (RMS) (c,b,ch)=(0,13,10)TVC sigma (RMS) (c,b,ch)=(0,13,10)
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TVC sigma (RMS) (c,b,ch)=(0,13,11)TVC sigma (RMS) (c,b,ch)=(0,13,11)
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TVC sigma (RMS) (c,b,ch)=(0,13,12)TVC sigma (RMS) (c,b,ch)=(0,13,12)
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TVC sigma (RMS) (c,b,ch)=(0,13,13)TVC sigma (RMS) (c,b,ch)=(0,13,13)
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TVC sigma (RMS) (c,b,ch)=(0,13,14)TVC sigma (RMS) (c,b,ch)=(0,13,14)
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TVC sigma (RMS) (c,b,ch)=(0,13,15)TVC sigma (RMS) (c,b,ch)=(0,13,15)
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TVC sigma (RMS) (c,b,ch)=(0,14,0)TVC sigma (RMS) (c,b,ch)=(0,14,0)
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TVC sigma (RMS) (c,b,ch)=(0,14,1)TVC sigma (RMS) (c,b,ch)=(0,14,1)
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TVC sigma (RMS) (c,b,ch)=(0,14,2)TVC sigma (RMS) (c,b,ch)=(0,14,2)
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TVC sigma (RMS) (c,b,ch)=(0,14,3)TVC sigma (RMS) (c,b,ch)=(0,14,3)
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TVC sigma (RMS) (c,b,ch)=(0,14,4)TVC sigma (RMS) (c,b,ch)=(0,14,4)
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TVC sigma (RMS) (c,b,ch)=(0,14,5)TVC sigma (RMS) (c,b,ch)=(0,14,5)
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TVC sigma (RMS) (c,b,ch)=(0,14,6)TVC sigma (RMS) (c,b,ch)=(0,14,6)
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TVC sigma (RMS) (c,b,ch)=(0,14,7)TVC sigma (RMS) (c,b,ch)=(0,14,7)
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TVC sigma (RMS) (c,b,ch)=(0,14,8)TVC sigma (RMS) (c,b,ch)=(0,14,8)
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TVC sigma (RMS) (c,b,ch)=(0,14,9)TVC sigma (RMS) (c,b,ch)=(0,14,9)
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TVC sigma (RMS) (c,b,ch)=(0,14,10)TVC sigma (RMS) (c,b,ch)=(0,14,10)
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TVC sigma (RMS) (c,b,ch)=(0,14,11)TVC sigma (RMS) (c,b,ch)=(0,14,11)
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TVC sigma (RMS) (c,b,ch)=(0,14,12)TVC sigma (RMS) (c,b,ch)=(0,14,12)
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TVC sigma (RMS) (c,b,ch)=(0,14,13)TVC sigma (RMS) (c,b,ch)=(0,14,13)
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TVC sigma (RMS) (c,b,ch)=(0,15,2)TVC sigma (RMS) (c,b,ch)=(0,15,2)
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TVC sigma (RMS) (c,b,ch)=(3,10,14)TVC sigma (RMS) (c,b,ch)=(3,10,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,10,15)TVC sigma (RMS) (c,b,ch)=(3,10,15)



0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,0)TVC sigma (RMS) (c,b,ch)=(3,11,0)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,1)TVC sigma (RMS) (c,b,ch)=(3,11,1)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,2)TVC sigma (RMS) (c,b,ch)=(3,11,2)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,3)TVC sigma (RMS) (c,b,ch)=(3,11,3)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,4)TVC sigma (RMS) (c,b,ch)=(3,11,4)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,5)TVC sigma (RMS) (c,b,ch)=(3,11,5)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,6)TVC sigma (RMS) (c,b,ch)=(3,11,6)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,7)TVC sigma (RMS) (c,b,ch)=(3,11,7)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,8)TVC sigma (RMS) (c,b,ch)=(3,11,8)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,9)TVC sigma (RMS) (c,b,ch)=(3,11,9)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,10)TVC sigma (RMS) (c,b,ch)=(3,11,10)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,11)TVC sigma (RMS) (c,b,ch)=(3,11,11)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,12)TVC sigma (RMS) (c,b,ch)=(3,11,12)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,13)TVC sigma (RMS) (c,b,ch)=(3,11,13)

0 50 100
1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,14)TVC sigma (RMS) (c,b,ch)=(3,11,14)

0 50 100

1

1.5

2

TVC sigma (RMS) (c,b,ch)=(3,11,15)TVC sigma (RMS) (c,b,ch)=(3,11,15)



0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,0,0)TVC sigma (RMS) (c,b,ch)=(4,0,0)

0 50 100
0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,1)TVC sigma (RMS) (c,b,ch)=(4,0,1)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,2)TVC sigma (RMS) (c,b,ch)=(4,0,2)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,0,3)TVC sigma (RMS) (c,b,ch)=(4,0,3)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,4)TVC sigma (RMS) (c,b,ch)=(4,0,4)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,5)TVC sigma (RMS) (c,b,ch)=(4,0,5)

0 50 100

0.95

1

1.05
TVC sigma (RMS) (c,b,ch)=(4,0,6)TVC sigma (RMS) (c,b,ch)=(4,0,6)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,7)TVC sigma (RMS) (c,b,ch)=(4,0,7)

0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,0,8)TVC sigma (RMS) (c,b,ch)=(4,0,8)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,9)TVC sigma (RMS) (c,b,ch)=(4,0,9)

0 50 100

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,0,10)TVC sigma (RMS) (c,b,ch)=(4,0,10)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,0,11)TVC sigma (RMS) (c,b,ch)=(4,0,11)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,12)TVC sigma (RMS) (c,b,ch)=(4,0,12)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,0,13)TVC sigma (RMS) (c,b,ch)=(4,0,13)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,0,14)TVC sigma (RMS) (c,b,ch)=(4,0,14)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,0,15)TVC sigma (RMS) (c,b,ch)=(4,0,15)



0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,1,0)TVC sigma (RMS) (c,b,ch)=(4,1,0)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,1)TVC sigma (RMS) (c,b,ch)=(4,1,1)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,2)TVC sigma (RMS) (c,b,ch)=(4,1,2)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,3)TVC sigma (RMS) (c,b,ch)=(4,1,3)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,1,4)TVC sigma (RMS) (c,b,ch)=(4,1,4)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,1,5)TVC sigma (RMS) (c,b,ch)=(4,1,5)

0 50 100
0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,1,6)TVC sigma (RMS) (c,b,ch)=(4,1,6)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,7)TVC sigma (RMS) (c,b,ch)=(4,1,7)

0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,1,8)TVC sigma (RMS) (c,b,ch)=(4,1,8)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,9)TVC sigma (RMS) (c,b,ch)=(4,1,9)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,10)TVC sigma (RMS) (c,b,ch)=(4,1,10)

0 50 100
1

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,1,11)TVC sigma (RMS) (c,b,ch)=(4,1,11)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,12)TVC sigma (RMS) (c,b,ch)=(4,1,12)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,1,13)TVC sigma (RMS) (c,b,ch)=(4,1,13)

0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,1,14)TVC sigma (RMS) (c,b,ch)=(4,1,14)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,1,15)TVC sigma (RMS) (c,b,ch)=(4,1,15)



0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,2,0)TVC sigma (RMS) (c,b,ch)=(4,2,0)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,2,1)TVC sigma (RMS) (c,b,ch)=(4,2,1)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,2,2)TVC sigma (RMS) (c,b,ch)=(4,2,2)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,3)TVC sigma (RMS) (c,b,ch)=(4,2,3)

0 50 100

1

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,2,4)TVC sigma (RMS) (c,b,ch)=(4,2,4)

0 50 100

0.88

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,2,5)TVC sigma (RMS) (c,b,ch)=(4,2,5)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,6)TVC sigma (RMS) (c,b,ch)=(4,2,6)

0 50 100
0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,2,7)TVC sigma (RMS) (c,b,ch)=(4,2,7)

0 50 100

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,2,8)TVC sigma (RMS) (c,b,ch)=(4,2,8)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,2,9)TVC sigma (RMS) (c,b,ch)=(4,2,9)

0 50 100

1.01

1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,2,10)TVC sigma (RMS) (c,b,ch)=(4,2,10)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,2,11)TVC sigma (RMS) (c,b,ch)=(4,2,11)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,2,12)TVC sigma (RMS) (c,b,ch)=(4,2,12)

0 50 100

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,2,13)TVC sigma (RMS) (c,b,ch)=(4,2,13)

0 50 100

0.96

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,2,14)TVC sigma (RMS) (c,b,ch)=(4,2,14)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,2,15)TVC sigma (RMS) (c,b,ch)=(4,2,15)



0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,0)TVC sigma (RMS) (c,b,ch)=(4,3,0)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,1)TVC sigma (RMS) (c,b,ch)=(4,3,1)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,3,2)TVC sigma (RMS) (c,b,ch)=(4,3,2)

0 50 100

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,3,3)TVC sigma (RMS) (c,b,ch)=(4,3,3)

0 50 100

0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,3,4)TVC sigma (RMS) (c,b,ch)=(4,3,4)

0 50 100

0.8

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,3,5)TVC sigma (RMS) (c,b,ch)=(4,3,5)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,3,6)TVC sigma (RMS) (c,b,ch)=(4,3,6)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,3,7)TVC sigma (RMS) (c,b,ch)=(4,3,7)

0 50 100

0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,3,8)TVC sigma (RMS) (c,b,ch)=(4,3,8)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,9)TVC sigma (RMS) (c,b,ch)=(4,3,9)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,3,10)TVC sigma (RMS) (c,b,ch)=(4,3,10)

0 50 100

0.96

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,3,11)TVC sigma (RMS) (c,b,ch)=(4,3,11)

0 50 100

1

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,3,12)TVC sigma (RMS) (c,b,ch)=(4,3,12)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,3,13)TVC sigma (RMS) (c,b,ch)=(4,3,13)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,3,14)TVC sigma (RMS) (c,b,ch)=(4,3,14)

0 50 100
0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,3,15)TVC sigma (RMS) (c,b,ch)=(4,3,15)



0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,4,0)TVC sigma (RMS) (c,b,ch)=(4,4,0)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,1)TVC sigma (RMS) (c,b,ch)=(4,4,1)

0 50 100
1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,4,2)TVC sigma (RMS) (c,b,ch)=(4,4,2)

0 50 100
0.8

0.82

0.84

0.86

0.88

TVC sigma (RMS) (c,b,ch)=(4,4,3)TVC sigma (RMS) (c,b,ch)=(4,4,3)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,4,4)TVC sigma (RMS) (c,b,ch)=(4,4,4)

0 50 100

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,4,5)TVC sigma (RMS) (c,b,ch)=(4,4,5)

0 50 100

0.96

0.98

1

1.02
TVC sigma (RMS) (c,b,ch)=(4,4,6)TVC sigma (RMS) (c,b,ch)=(4,4,6)

0 50 100

0.98

1

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,4,7)TVC sigma (RMS) (c,b,ch)=(4,4,7)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,4,8)TVC sigma (RMS) (c,b,ch)=(4,4,8)

0 50 100

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,4,9)TVC sigma (RMS) (c,b,ch)=(4,4,9)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,4,10)TVC sigma (RMS) (c,b,ch)=(4,4,10)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,11)TVC sigma (RMS) (c,b,ch)=(4,4,11)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,4,12)TVC sigma (RMS) (c,b,ch)=(4,4,12)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,4,13)TVC sigma (RMS) (c,b,ch)=(4,4,13)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,4,14)TVC sigma (RMS) (c,b,ch)=(4,4,14)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,4,15)TVC sigma (RMS) (c,b,ch)=(4,4,15)



0 50 100

1.1

1.12

1.14

1.16

1.18

TVC sigma (RMS) (c,b,ch)=(4,5,0)TVC sigma (RMS) (c,b,ch)=(4,5,0)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,5,1)TVC sigma (RMS) (c,b,ch)=(4,5,1)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,5,2)TVC sigma (RMS) (c,b,ch)=(4,5,2)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,5,3)TVC sigma (RMS) (c,b,ch)=(4,5,3)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,4)TVC sigma (RMS) (c,b,ch)=(4,5,4)

0 50 100
0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,5,5)TVC sigma (RMS) (c,b,ch)=(4,5,5)

0 50 100

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,6)TVC sigma (RMS) (c,b,ch)=(4,5,6)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,7)TVC sigma (RMS) (c,b,ch)=(4,5,7)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,8)TVC sigma (RMS) (c,b,ch)=(4,5,8)

0 50 100

0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,5,9)TVC sigma (RMS) (c,b,ch)=(4,5,9)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,10)TVC sigma (RMS) (c,b,ch)=(4,5,10)

0 50 100

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,11)TVC sigma (RMS) (c,b,ch)=(4,5,11)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,5,12)TVC sigma (RMS) (c,b,ch)=(4,5,12)

0 50 100
1.04

1.06

1.08

1.1

1.12

TVC sigma (RMS) (c,b,ch)=(4,5,13)TVC sigma (RMS) (c,b,ch)=(4,5,13)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,5,14)TVC sigma (RMS) (c,b,ch)=(4,5,14)

0 50 100

0.8

0.82

0.84

0.86

0.88

TVC sigma (RMS) (c,b,ch)=(4,5,15)TVC sigma (RMS) (c,b,ch)=(4,5,15)



0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,6,0)TVC sigma (RMS) (c,b,ch)=(4,6,0)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,1)TVC sigma (RMS) (c,b,ch)=(4,6,1)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,2)TVC sigma (RMS) (c,b,ch)=(4,6,2)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,3)TVC sigma (RMS) (c,b,ch)=(4,6,3)

0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,6,4)TVC sigma (RMS) (c,b,ch)=(4,6,4)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,5)TVC sigma (RMS) (c,b,ch)=(4,6,5)

0 50 100
0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,6)TVC sigma (RMS) (c,b,ch)=(4,6,6)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,7)TVC sigma (RMS) (c,b,ch)=(4,6,7)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,8)TVC sigma (RMS) (c,b,ch)=(4,6,8)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,6,9)TVC sigma (RMS) (c,b,ch)=(4,6,9)

0 50 100
0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,6,10)TVC sigma (RMS) (c,b,ch)=(4,6,10)

0 50 100
1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,11)TVC sigma (RMS) (c,b,ch)=(4,6,11)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,6,12)TVC sigma (RMS) (c,b,ch)=(4,6,12)

0 50 100

1

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,6,13)TVC sigma (RMS) (c,b,ch)=(4,6,13)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,6,14)TVC sigma (RMS) (c,b,ch)=(4,6,14)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,6,15)TVC sigma (RMS) (c,b,ch)=(4,6,15)



0 50 100

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,7,0)TVC sigma (RMS) (c,b,ch)=(4,7,0)

0 50 100
0.7

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,7,1)TVC sigma (RMS) (c,b,ch)=(4,7,1)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,7,2)TVC sigma (RMS) (c,b,ch)=(4,7,2)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,7,3)TVC sigma (RMS) (c,b,ch)=(4,7,3)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,7,4)TVC sigma (RMS) (c,b,ch)=(4,7,4)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,7,5)TVC sigma (RMS) (c,b,ch)=(4,7,5)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,7,6)TVC sigma (RMS) (c,b,ch)=(4,7,6)

0 50 100
0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,7,7)TVC sigma (RMS) (c,b,ch)=(4,7,7)

0 50 100
0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,7,8)TVC sigma (RMS) (c,b,ch)=(4,7,8)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,7,9)TVC sigma (RMS) (c,b,ch)=(4,7,9)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,10)TVC sigma (RMS) (c,b,ch)=(4,7,10)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,11)TVC sigma (RMS) (c,b,ch)=(4,7,11)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,7,12)TVC sigma (RMS) (c,b,ch)=(4,7,12)

0 50 100

0.85

0.9

0.95

1
TVC sigma (RMS) (c,b,ch)=(4,7,13)TVC sigma (RMS) (c,b,ch)=(4,7,13)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,7,14)TVC sigma (RMS) (c,b,ch)=(4,7,14)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,7,15)TVC sigma (RMS) (c,b,ch)=(4,7,15)



0 50 100
0.95

1

1.05

TVC sigma (RMS) (c,b,ch)=(4,8,0)TVC sigma (RMS) (c,b,ch)=(4,8,0)

0 50 100

0.75

0.8

TVC sigma (RMS) (c,b,ch)=(4,8,1)TVC sigma (RMS) (c,b,ch)=(4,8,1)

0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,8,2)TVC sigma (RMS) (c,b,ch)=(4,8,2)

0 50 100

0.8

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,8,3)TVC sigma (RMS) (c,b,ch)=(4,8,3)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,8,4)TVC sigma (RMS) (c,b,ch)=(4,8,4)

0 50 100

0.85

0.9

0.95
TVC sigma (RMS) (c,b,ch)=(4,8,5)TVC sigma (RMS) (c,b,ch)=(4,8,5)

0 50 100

0.92

0.94

0.96

0.98

1
TVC sigma (RMS) (c,b,ch)=(4,8,6)TVC sigma (RMS) (c,b,ch)=(4,8,6)

0 50 100

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,7)TVC sigma (RMS) (c,b,ch)=(4,8,7)

0 50 100

0.85

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,8,8)TVC sigma (RMS) (c,b,ch)=(4,8,8)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,8,9)TVC sigma (RMS) (c,b,ch)=(4,8,9)

0 50 100

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,10)TVC sigma (RMS) (c,b,ch)=(4,8,10)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,8,11)TVC sigma (RMS) (c,b,ch)=(4,8,11)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,8,12)TVC sigma (RMS) (c,b,ch)=(4,8,12)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,8,13)TVC sigma (RMS) (c,b,ch)=(4,8,13)

0 50 100

1.01

1.02

1.03

1.04

TVC sigma (RMS) (c,b,ch)=(4,8,14)TVC sigma (RMS) (c,b,ch)=(4,8,14)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,8,15)TVC sigma (RMS) (c,b,ch)=(4,8,15)



0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,9,0)TVC sigma (RMS) (c,b,ch)=(4,9,0)

0 50 100
0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,1)TVC sigma (RMS) (c,b,ch)=(4,9,1)

0 50 100
0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,9,2)TVC sigma (RMS) (c,b,ch)=(4,9,2)

0 50 100

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,9,3)TVC sigma (RMS) (c,b,ch)=(4,9,3)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,4)TVC sigma (RMS) (c,b,ch)=(4,9,4)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,9,5)TVC sigma (RMS) (c,b,ch)=(4,9,5)

0 50 100
0.8

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,6)TVC sigma (RMS) (c,b,ch)=(4,9,6)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,7)TVC sigma (RMS) (c,b,ch)=(4,9,7)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,9,8)TVC sigma (RMS) (c,b,ch)=(4,9,8)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,9,9)TVC sigma (RMS) (c,b,ch)=(4,9,9)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,9,10)TVC sigma (RMS) (c,b,ch)=(4,9,10)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,9,11)TVC sigma (RMS) (c,b,ch)=(4,9,11)

0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,9,12)TVC sigma (RMS) (c,b,ch)=(4,9,12)

0 50 100

0.99

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,9,13)TVC sigma (RMS) (c,b,ch)=(4,9,13)

0 50 100

0.9

0.92

0.94

0.96

TVC sigma (RMS) (c,b,ch)=(4,9,14)TVC sigma (RMS) (c,b,ch)=(4,9,14)

0 50 100
0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,9,15)TVC sigma (RMS) (c,b,ch)=(4,9,15)



0 50 100
0.98

1

1.02

1.04

1.06
TVC sigma (RMS) (c,b,ch)=(4,10,0)TVC sigma (RMS) (c,b,ch)=(4,10,0)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,10,1)TVC sigma (RMS) (c,b,ch)=(4,10,1)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,2)TVC sigma (RMS) (c,b,ch)=(4,10,2)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,3)TVC sigma (RMS) (c,b,ch)=(4,10,3)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,4)TVC sigma (RMS) (c,b,ch)=(4,10,4)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,10,5)TVC sigma (RMS) (c,b,ch)=(4,10,5)

0 50 100

0.75

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,6)TVC sigma (RMS) (c,b,ch)=(4,10,6)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,10,7)TVC sigma (RMS) (c,b,ch)=(4,10,7)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,10,8)TVC sigma (RMS) (c,b,ch)=(4,10,8)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,10,9)TVC sigma (RMS) (c,b,ch)=(4,10,9)

0 50 100

0.9

0.92

0.94

0.96

0.98
TVC sigma (RMS) (c,b,ch)=(4,10,10)TVC sigma (RMS) (c,b,ch)=(4,10,10)

0 50 100

0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,10,11)TVC sigma (RMS) (c,b,ch)=(4,10,11)

0 50 100

0.99

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,10,12)TVC sigma (RMS) (c,b,ch)=(4,10,12)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,13)TVC sigma (RMS) (c,b,ch)=(4,10,13)

0 50 100
0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,10,14)TVC sigma (RMS) (c,b,ch)=(4,10,14)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,10,15)TVC sigma (RMS) (c,b,ch)=(4,10,15)



0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,11,0)TVC sigma (RMS) (c,b,ch)=(4,11,0)

0 50 100

0.8

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,11,1)TVC sigma (RMS) (c,b,ch)=(4,11,1)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,11,2)TVC sigma (RMS) (c,b,ch)=(4,11,2)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,11,3)TVC sigma (RMS) (c,b,ch)=(4,11,3)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,11,4)TVC sigma (RMS) (c,b,ch)=(4,11,4)

0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,11,5)TVC sigma (RMS) (c,b,ch)=(4,11,5)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,11,6)TVC sigma (RMS) (c,b,ch)=(4,11,6)

0 50 100

0.99

1

1.01

1.02

1.03

TVC sigma (RMS) (c,b,ch)=(4,11,7)TVC sigma (RMS) (c,b,ch)=(4,11,7)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,11,8)TVC sigma (RMS) (c,b,ch)=(4,11,8)

0 50 100

0.9

0.92

0.94

0.96

0.98

TVC sigma (RMS) (c,b,ch)=(4,11,9)TVC sigma (RMS) (c,b,ch)=(4,11,9)

0 50 100

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,11,10)TVC sigma (RMS) (c,b,ch)=(4,11,10)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,11,11)TVC sigma (RMS) (c,b,ch)=(4,11,11)

0 50 100

1.12

1.14

1.16

1.18

TVC sigma (RMS) (c,b,ch)=(4,11,12)TVC sigma (RMS) (c,b,ch)=(4,11,12)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,11,13)TVC sigma (RMS) (c,b,ch)=(4,11,13)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,11,14)TVC sigma (RMS) (c,b,ch)=(4,11,14)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,11,15)TVC sigma (RMS) (c,b,ch)=(4,11,15)



0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,0)TVC sigma (RMS) (c,b,ch)=(4,12,0)

0 50 100

0.8

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,12,1)TVC sigma (RMS) (c,b,ch)=(4,12,1)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,2)TVC sigma (RMS) (c,b,ch)=(4,12,2)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,12,3)TVC sigma (RMS) (c,b,ch)=(4,12,3)

0 50 100
0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,12,4)TVC sigma (RMS) (c,b,ch)=(4,12,4)

0 50 100

1

1.05

1.1

TVC sigma (RMS) (c,b,ch)=(4,12,5)TVC sigma (RMS) (c,b,ch)=(4,12,5)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,6)TVC sigma (RMS) (c,b,ch)=(4,12,6)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,12,7)TVC sigma (RMS) (c,b,ch)=(4,12,7)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,12,8)TVC sigma (RMS) (c,b,ch)=(4,12,8)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,12,9)TVC sigma (RMS) (c,b,ch)=(4,12,9)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,12,10)TVC sigma (RMS) (c,b,ch)=(4,12,10)

0 50 100

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,12,11)TVC sigma (RMS) (c,b,ch)=(4,12,11)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,12,12)TVC sigma (RMS) (c,b,ch)=(4,12,12)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,12,13)TVC sigma (RMS) (c,b,ch)=(4,12,13)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,12,14)TVC sigma (RMS) (c,b,ch)=(4,12,14)

0 50 100

0.92

0.94

0.96

0.98

1

TVC sigma (RMS) (c,b,ch)=(4,12,15)TVC sigma (RMS) (c,b,ch)=(4,12,15)



0 50 100

1.01

1.02

1.03

1.04

1.05

TVC sigma (RMS) (c,b,ch)=(4,13,0)TVC sigma (RMS) (c,b,ch)=(4,13,0)

0 50 100

1.02

1.04

1.06

TVC sigma (RMS) (c,b,ch)=(4,13,1)TVC sigma (RMS) (c,b,ch)=(4,13,1)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,2)TVC sigma (RMS) (c,b,ch)=(4,13,2)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,3)TVC sigma (RMS) (c,b,ch)=(4,13,3)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,13,4)TVC sigma (RMS) (c,b,ch)=(4,13,4)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,13,5)TVC sigma (RMS) (c,b,ch)=(4,13,5)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,6)TVC sigma (RMS) (c,b,ch)=(4,13,6)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,13,7)TVC sigma (RMS) (c,b,ch)=(4,13,7)

0 50 100
0.96

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,13,8)TVC sigma (RMS) (c,b,ch)=(4,13,8)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,13,9)TVC sigma (RMS) (c,b,ch)=(4,13,9)

0 50 100

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,13,10)TVC sigma (RMS) (c,b,ch)=(4,13,10)

0 50 100
0.7

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,13,11)TVC sigma (RMS) (c,b,ch)=(4,13,11)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,13,12)TVC sigma (RMS) (c,b,ch)=(4,13,12)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,13)TVC sigma (RMS) (c,b,ch)=(4,13,13)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,13,14)TVC sigma (RMS) (c,b,ch)=(4,13,14)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,13,15)TVC sigma (RMS) (c,b,ch)=(4,13,15)



0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,14,0)TVC sigma (RMS) (c,b,ch)=(4,14,0)

0 50 100

0.85

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,14,1)TVC sigma (RMS) (c,b,ch)=(4,14,1)

0 50 100

0.8

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,2)TVC sigma (RMS) (c,b,ch)=(4,14,2)

0 50 100

0.9

0.95

TVC sigma (RMS) (c,b,ch)=(4,14,3)TVC sigma (RMS) (c,b,ch)=(4,14,3)

0 50 100

1.02

1.04

1.06

1.08

TVC sigma (RMS) (c,b,ch)=(4,14,4)TVC sigma (RMS) (c,b,ch)=(4,14,4)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,14,5)TVC sigma (RMS) (c,b,ch)=(4,14,5)

0 50 100
0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,14,6)TVC sigma (RMS) (c,b,ch)=(4,14,6)

0 50 100

0.9

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,14,7)TVC sigma (RMS) (c,b,ch)=(4,14,7)

0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,14,8)TVC sigma (RMS) (c,b,ch)=(4,14,8)

0 50 100
0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,14,9)TVC sigma (RMS) (c,b,ch)=(4,14,9)

0 50 100

1.05

1.1

TVC sigma (RMS) (c,b,ch)=(4,14,10)TVC sigma (RMS) (c,b,ch)=(4,14,10)

0 50 100

0.85

0.9

TVC sigma (RMS) (c,b,ch)=(4,14,11)TVC sigma (RMS) (c,b,ch)=(4,14,11)

0 50 100

0.9

0.95

1
TVC sigma (RMS) (c,b,ch)=(4,14,12)TVC sigma (RMS) (c,b,ch)=(4,14,12)

0 50 100

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,14,13)TVC sigma (RMS) (c,b,ch)=(4,14,13)

0 50 100

0.75

0.8

0.85

TVC sigma (RMS) (c,b,ch)=(4,14,14)TVC sigma (RMS) (c,b,ch)=(4,14,14)

0 50 100

0.98

1

1.02

1.04

TVC sigma (RMS) (c,b,ch)=(4,14,15)TVC sigma (RMS) (c,b,ch)=(4,14,15)



0 50 100

0.95

1

TVC sigma (RMS) (c,b,ch)=(4,15,0)TVC sigma (RMS) (c,b,ch)=(4,15,0)

0 50 100

0.94

0.96

0.98

1

1.02

TVC sigma (RMS) (c,b,ch)=(4,15,1)TVC sigma (RMS) (c,b,ch)=(4,15,1)
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